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A carbon resistor of (47 £ 4°7) ki 18 b L marked
with rings of  differcnt . colours for its
identification, The colour eude sequence will be
(1) Viclet < Yellow — Orange - Silver

¥ Yellow — Violat — Orange - Silver
(3)  Yellow — Green - Violet — Gold
{4) Green- Orange - Vidlet - Gold

A battery consists of a variable| pumber 0’ of
identical cells (baving inteérnal resistance '

each) which are connectod in serics. Thae
terminals of the battery are lh?rt-ﬂirquj_leil_ln:l
thie current 1 I8 measured, Which of the grapha

shows tha correct relationship between | and n 7
N L
A ==
I
(2] 1
0 —0
1
(3) T
b e [l
L
(47 t ! 4 y
J —=n

A set of ‘0 equal resistors, of valoe ‘B’ each, are
mngutlﬂinuﬁﬂm_ahamh!.rniumff and
internal resistance ‘K. The current drawn is L
Now, the ‘0’ resistors are connected in parallel to
the same battery. Then the current drawn from
httary'bbmmmlﬂl.ﬂui-ﬂweuf'n’is ;

4 € g
5

G B
An clertrun falls from rest through a vertical
distance h in « oniform and vertically upward
directed electric field E The direction of electric
field i now reversed, keeping its magnitude the
came. A proton is allowed to foll from rest in it
thirough the same vexticn! distance h. The time of
fall of the electron, in n Lo the time of
fall of the proton is

gmaller

5 times greaker +
10 times greater
equal

A tuning fork is used to produce resonance in a
glass tabe. The length of the air eolumn in this
tube ¢an be adjusted by a variable piston. At
room tempersture of ZT°C twe successive
resanances are produced at 20 em and 73 cm of
eolumn length. 1f the frequency of the tuning fork
iz 320 Hz, the velocity of sound in air at 27°C is

Wi

r
l -

L)
3
(4

{1y 330 m/'s
{(2) 339 m/s
(8) 350 mfs
(4) 500 mia
6 A pendulumy i hung from the roof of =
guMisiently high building and is moving freely to
and fre like n simple harmonic oscillator. The
acceloration of the bob of the pendulum is
90 mis® at a digtance of 5 m from the mean
position. The time period of oscillation is
(1) 2ng g & WM
: 4 " N N
um 2 .H‘% #?*‘;’:‘ﬂh 5
@ 2s V. Y
TL‘:-'{‘ - m‘::'
4 1s "‘I""’ﬁ a0 19= =

= The electrostatic force between the metal plates
of an isolated parallel pllhmpu?;rtgrﬂ having &

charge @ and area A, is e
t\[jyi.udapendent of the distance between the
‘E:; plates.

s e nR v Ma (2} linearly proportional to the distance
w1 : fﬂ?h : uﬂfﬂfﬂg 5 Nk % between the plates.
@ 1 - y g 5"5.&"-‘ W=l T (3 proportional to the sguare reot of the
(8) 20 Ef?'. _ F; 1= digtance between the plates.
) @ Parabted P'ﬂ"l"‘a.. Uiis_ {4) inversely proportional to the distance
", between the plates.
u; = = i —En._
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An electron of masa m with an inftial velocity
;: =‘-.?nJi1 (Vg > 0} _énters, an_ electne  field
E =-Eqyi (Ep oot nO0utt = 0. If &, is
its de-Broglie ‘wavelength initially, than its
de-Broglie wavelength at time t is

(1}

efy

[] + m‘r' t
eBy

(2 Ay [1 + " t

(3)

i)

Agt
Ao

When the light of iréquency 2wy (where v, is
threshold frequency), is inoident om & metal
plate, the maximum velocity of electrons emitted
is v;. When the frequency of the incident
radiation is increased to Seg the maximum
velocity of electrons emitted from the same plate
is vy The ratio of v, to v, is E=hvr he

u,m 1.2 Hu-g)
() 1:4 1, Ve = Ve
3 4:1
dy 2:1

19. For a redioactive mmaterial, haltlife is
10 minutdb. 1f iniiall there/are GO0 mimber of
nuclei, the time taken (i minutes) for
disintegration of 450 nuclei is (oo

1 20 Ges Ay [0
(2 10 oo = Joe-y 100
la 1o,

(4 30

(4) 15

o
i:: ce
5&

12, In the circuit shown in the fipure, the inpat

voltage ¥V, s 200V, Vee « 0 and Vop = 0. The
walues of Iy, 1» and fare mven by
20.¥-

‘“E_'Fr. YowF
8- %
Ip= A0 i
o
g~ 1orlovk

&
4y r}.if

VR, 1
I, * %0 xic

e
=
-

1) Ip=40pA, Io=10mA, [i=250
(2) ]-rJ'.=25I-LA-!n=--'ﬁmﬂ- B =200
lp =20 A, I = 5 mA, P =250
(377 Ip=40 A, Io<BmA, fi- 128 :
In ihewmﬁn:ﬁnnﬁ!thﬂnﬁni:amr;f:

(3}

18,
'wiﬂnhwﬁﬁeuhmuriuwtaam
B a=s
'HI- N _
L
B [ - Y
LU ALE |
4 N .l N ‘
2) A.B+A.B
i A.B+A.B
4) A+B

14. hlpnjmnﬁmﬂiﬂe,d:.u.gainw

11. The ratio of kinetic energy to the total energy of 2
an electron in & Bohr orbit of the hydrogen atom, doe to hesting
ia (1)  affects only reverse resistance
(1} 1:1 (2] affects only forwanrd resistance

- {3)  does not affect resistance of p-n junction
3 2:-1 {4) affects the overall V - I characteristics of
4) 1:-2 p-n junction
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The moment of the ferce, F =41 + 5 -6k |

15. A body initiall ai ‘vest and shiding along al18.
::E:I |Fn|ﬁ-a} ?‘ﬁ :mn s height I:t:aal shnwtn I.;:f (2,0,—3), aboulthe point (2, - 2, — 2), is given
1gure Jm 0 ve 3l CIrncie -
diametef AR = 1. The height h is equal to (1) -85 45,7k
(3l —di - Pt
: B (3) -TiR8] 2Nk :
(] i A A
l_ ' 4] -71-4] -8Bk
A 20. A toy car with charge g moves on a frictionle
(1) ED horizontal plane surface under the influence of
2. uniform alectric field E . Due to the foree g
2y D its welocily increases from 0 0 6 m's in o
: T]} second duration. At that instant the direction
\/ﬂ 5 the field is reversed. The car continues W mo
5 for two mbre seconds under the influence of t]
\_){"'r‘ ID et S field. The average velocity and the average spe
16. Three objocté) A (s golid sphere), B : ti'k?ﬁ‘in of Lhu_tny’ car between U to 3 szeconds ¢
vircular digk) and € : (a ci Ang), each have respesiively Ml AT o Gran
the same msss M and radius R, They all spin| 4T/ 2m's, 4mls FPFE - -ar
with the same nogular epeed w about their own (2) 1 m/s; 3 mis = “'F;,;
symmetry axed. The amounts of work (W) :i: }_Em::" 2 3::: /4 Ny = 3 rj &
uired to bring them to would satisfv the .
Eum ring R sl 21. A studeut measired the diameter of & small st
uur Wo>Wg>W } : %ﬂn 1L'M"‘EI']:: - il Fauged::; ITL St
C p> Wy AN (m main scale rea iz 5 mm ¢
(2) W sWes W PAUHO = : i sero of circular scale division coincides w
A H & Wy T 'il"'l"l.g_’l..-"::|I 25 divisions above the reference level If ser
(3) Wg>W,>Wg F‘. V0 T-'l-tjh-p"'u"ﬂ Eanga ha.a::‘ ;Prg {;ﬁur of = (-004 em, the con
immeter of the hall is
W) Wy > WenWy U= Lv, af ) oB2lem e s W g
17. A moving block having mass m, collides with Eg; S oy o DIV &S
mummﬂmmmmﬁa g.ﬁggm’
lighter Block comek to rest after collizion Whan Aﬂfmk nfmlaam I:&Qi ml.hmdl
ﬂ:ulﬂtiﬂﬂnﬂﬁuftﬁﬁlﬁf&rbﬁ_&k ¥, then ﬂ..EG‘-pI' tiom @ ag shown in
the value of coefficient of restitution 6] will be is given an acceleration
() 06 t--"" 'll"']_."'."'!ﬁ Lt 'l-ﬂ'H'!IdEH'I’E]'lEht Thﬂrallimnbatwmﬂan
g m -0 E-f"‘ fnr the block to remain stationary on the we
(3 o8 ok 2 o
) 04 i o R
H“-g.' a
18. Which one of the following statements is
incorrect 7
(1) Rolling friction is =maller than sliding
friction.
(2)  Limiting value of static friction is directly
proportional to normal resction. %= Mg H g
. . _ (2) am ———
(3) Frictional force oppases the relative motion. sin
w#" Coefficient of sliding friction  has (3) a=gosh -
dimensions of length. -‘-—"E-f_pﬁ' (4) a=gtan B~ .
ACHLA/DD/Page 4 SPACE FOR ROUGH WORK Er |
‘:t L 'II"I' |1-'
s Pokor
-'uf -]‘:1 e



The volume (V) of a8 monatomic gas varies with 27,

its temperature (T), a8 shown fa the graph. The
ratio of work dome by the pgas, to the heat
absorbed by it, when it undergoes a change from
state A to state B, is

v

T

O — T
() %
2 %
(3) %
() -i—

The fundamental frequescy in an cpen organ

pipe is equal to the third harmonic of a closed | 28.

organ pipe. If the length of the closed organ pipo
is 20 cm, the length of the opén otgan pipe is

{1} 132cm

(2) 8em

{3y 125em

4y 16cm

At what temperature will the rms speed of
oxygen molecules become just sufficient for

escaping from the Earth's atmosphere !
(Given ;.

Mass of gxygetn moleculs (m) =276 % 10" kg
Boltsiann's constant kg = 138 x 105 JE )
(1) 2608 x10* K iy
M7 B360x10'K zmq'iﬁi-f"”
(3 s0Ex10'K %
4) 1264x 'K

ﬁezﬂiﬁmcyufmldeﬂhulmmm:wnrhng
between the freezing peint and boiling point of

e 1th i "-"""1"'__-—3-'

Unpolarised light is incident from air on a plane
surface of a material of refractive index ‘W, At a
particular angle of ingidenoe ¥, it is found that
the reflected and wefrocled rays  are
perpendicular to each other, Which of the
following options i eorrect for this w 7

(1) Reflected light is polarised with its electric

vector parallel to the plane of incidence

J{"mﬂmml.gmnummmmdm
vector pu:rp-an-diwla-r to the plane of

incidence

In Young's double slit experiment the separation
d between the slits is 2 mm, the wavelength A of
the lizht usod is 5896 A and distance D between
the screen and gits is 100 em_ It is found that the
angulir width of the fringes is 0-20°. To increase
the fritige angular width to 0-21° (with same A
and [} the separation between the slits needs to
be changed to

(B ¥ I'Elﬂﬂl: i .
@\ 19 mm
lfﬂ] 21 mm
(4) 17 mm

An astronomical refracting telescope will have
large angular magnification and high angulsr
resolution, when it has an objeetive lens of
1) small focal length and large dizmeter

waber, is ';[.'::I'I-QFI:‘;‘I.;]L__.-I-, (2 Inm&ﬁﬁileugthunﬂsnulldimﬂﬂr
:;;; Eﬁﬁ g 5, A O 0 L X (3) large focal length and large diameter
(3 6-265% 120 iy '5'1{ . p @ - gmall focal length and small diameter
4 125% v | Tyl
ACHLA/DD/Page 5 : &n%?@nnumwm Engiish



30, An om wive is pmpagutmg in & medium with a|d4.

. The_instantanesus oacillating
eloctric field of this‘em wave i along +v axis

velocity ‘\- -"n-'

i

-~ q-T'll'ﬁ "-':'.F "-"-F‘!‘?
- o e F
S G
Current sensiuvity of a moving coil galvanometer
hﬁdirﬂnhlndmwmitiﬁl}'funju
deflection per unit voltage applied) i= 20 div/V,
The resistanes nl'llmp]nmﬂm is e

Then the direction of ossillating magnetic field of LT 400 - = g™
the sm wave will be 51{9’_} f-10i2) 250 X "L' a_.-;,‘:ﬂ"-" A
AT — 2 direction : "x% T Lo |p=vid zn0gQ B Efﬂ""”ﬂui
; 1 R
b | f4) KD
. 12+ zrdirection _E_-t-_.-'tm 8 -20nfo _\eﬁ

(3) - ydirection T B _in
If-ﬂ = x direction 'E}"I-‘Kvﬁtm erw;_iiﬁ
31. The refractive index of the matm:ﬁ- of o prism is
J/2 and the angle of the prism is 20°. One of the
two refracting surfaces of the prism is made a
mirrar il]'ﬁ'ﬂlh-' by silver coating. A beam of
monochromatie light entering the prism from the _
other face will retrace ite path (after reflection
from the silvered m:l_-fami if its angle of incidence

on the prism is &o

(1 60 N ""I

(2) 45 Lal 84,
b C

& Bo° o =
}r}

(4] =zero

32. An object is placed at & distance of 40 cm front &
concave mirror of focal length 15 em. If the object

'H'
: is displaced through a distance of 20 em towards
%_ﬁe mirror, the displacement of theimage will be .ri
(1)

30 nm‘lwaj:'ﬂmﬂ}a mirror q[, =k -4-3-
Vm" 36 cm awsy from the mirrgF Ty Ly
(3} 30em towards the mirror ‘.5 lp

(4} 36 em towards the mirror l" }..',,_-.""?";

33, The magnetic potential energy stored in a certain
inductor is 25 mdJ, when the current in the
inductor is 60 mA. This inductor is of inductanes
(1) ©O138H

Hhmﬁﬂlhtmdﬂm“pqrﬂhngﬂ:

05 kg m™ is lying herizontally on a smooth
inclined plans which makes an angle of 30° with
the herizontal. The rod is not allowed to slide
down by flowing a eurrent through it when a
magnetic ficld of induction 0-25 T is acting on it
in the vertical direction. The eurrent flowing in

H:er-ndmkwplutuhnm-gla

1l 714 A T "

[ S -3

3 1476 i"rm..r.

4) 1132A LY xlo
- 10 5 o

&audu:hrﬂﬂmﬂammmﬂpflndn
resistor 50 & are conpected in series across o
source of emf, V'= 10 gin 314 t. The power loss in
the circuit is

, P ER
1y 079w
2 043W p A FTLl
—= &3 2TAW
_‘.l L3 W

bﬂmﬂmwﬁuufmﬂn&mmﬂhmtha

';-i current in the electromagnet is switched on, then

lﬂmitm:gnﬂmmnpuhadup.mtufﬂu
Mrimntl]m:mtinﬁeliﬁanmthandghiu
gravitational potential energy., The work
required to do this comes from

(1)  the eurrent source’

¥ the magnetic feld

L3 .
(2) 138-88H (3) Elnmm structure of the material of the
e EiE . @ the induced eleetric field due fo the

7 1389 H et tic el
SCHLA/DD/Page & wmsrmnuumm e 13 English
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g8, A small sphere of radiue v falls from rest in a
viseous liquid. As apesult, hest is‘produced due
io vizseous force, The rate of p.mduchm of haent
when the sphere atining its terminal velocity, is
proportional to

P
(2
@
(4)

39. The power radiated by a black body fs F and it
radiates maximum energy at wavelength, o If
the temperature of the black body is now
changed nthltlt.mdmuemﬁniummwnt
wavelengih -Il.ﬁ., thia, powsr wadiated by it
becomes nP. Tha value of n is

r
r
r

3 Pyl )
{1}y = G
4 % TL"'—[g
i
@ = 2 %
gy S8B 1
&l G ATer
e BL |5 iy
256 n T V3

40. A sample of 0'1 g of water at 100°C and normal
pressure (1013 x 10° Nm™} requires 54 cal of
heat energy to convert to steam at 100°C. IF the

F“ - & AT

42, A =molid sphere i= rotating freely about jts
symmetry axis in free sparc. The radins of the
gphere i5  increassd Kecpmg its mass  same.
Which of the following physical quantities would
remain constant for the sphore ?

P ULt LG, T
(1y  Anpularvelocity
(27 Moment of inartin
{3} Rotationzl kinetic energy

\J’;@ Angular momentum

43, The kinetic esergies of a planet in an elliptical
orbit about the Sun, at positions A, B and C are
K. Ep and K., respectively, AC is the major
axis and 8B is parpendicular to AC at the
pogition of the Sun 8§ as shown in the figure.

Then
1=bT 4 Efﬂ\
&y T .13 = o
I_:T" _ Ve TV >Vp
7. M Ky<Eg€Ke

T35 }‘Tr (2 Ky>Ep=Kg

poal_4h RpeKy<KEe

(4 Ky>Ky>Ke

A solid aphere is in rolling motion, In rolling
motion & v poasesses translational khwl;ic‘?
energy (K,) as well as rotational kinetic energy

44,

volume_of the prﬂdqmd.lﬂlﬁlﬁ'?thﬂ (K,) simultaneously. The ratio K : (K, + K for
mhnmﬁmﬂmarmwﬂw the sphere it 'IH - .'Ii..m-:‘ =
w 1gsy [FORSEBTT T SN P\ 2 AV g
(2] 208-7d :;‘_“ _ 54 4 4An ' (2) 5'7 '-7— =
(3) 4224 ved = (8) 10:7,  sasonm
(4) B4EJ @ 2:5 4 i?ﬂcf}m 3 (v '-“uﬁ..:?rj
41. Two wires are made of the same material and
s e A . The first wire hu'm' Hﬂ:ﬁ::rmsmmmmmm
croes-sectional. ten times whi::hnftha
crogs-sectional area 3A. If the length of the first mﬁﬁh;ﬂh- =
wire is increased by Al on applying a force F, o OrTest ] E
how much force is nesded to stretch the second (1) Eﬂmﬂfﬂwﬁﬂﬂﬂ“fﬁﬁ“
wirahjthaﬂam-&mnm}t? ﬂ{l-__.ga.l,;@f_% (2) Walking on the ground would become more
g Mydys Made Ak AYE difficult. le
@ eF AL=3Al oki_ Fry by AL+ (3) Time period of a simple pendulum gn the ¢
(3) 4F ".ib*:"!u EE_“"FP'IP]E Earth would decrease. 1 7 Fﬁﬂ-:'
(4) F 14 on the Earth will not change.
ACHLA/DD/Page 7 = m;ﬁ::nmmmm (MRUJ—F&H:M
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Which of the following is an amine acil derived
hormone 7

u_[fﬁ Epinephrine

(2]
{3

46.

Ecdysone
Estradiol

(4 Estriol

Which of the following structures or regions is
incorrectly paired with its function ?

47.

(1} Medulla oblongata :  eontrol= respirntion
and eardiovascular
reflexes.

i Limbic gystem condigts of fibre

s trhcts thot:
inieroonnert
different regions of
bruin; controls
mavement,

(3 Hypothalamus production of
releasing hormones
and regulation of
i_lm]:u'lun'e,_
hunger and thirs1.

4]  Corpus callosum band of fibers
connecting left and
right corchral
hmnisphe:as.

48, The h'ampumnt:kn& inthnhummm iz held in
ite place by |
) ligaments attached to the elliary body

(2) ligaments attached to the iris

(8} smooth muscles atiached to the iris

(4} smooth muscles attached to the ciliary body

48. Which of the following hormones can play a

significant role in osteoporosis ?

50, Ciliates differ from all other protozoans in

(1v  using flagells for locomotion

(2 having & confractile vacnole for removing
excess waker

using pseudopodia {or enpturing prey
‘/{4: having two types of nuele

6L, ldentify the wvertebrate animals
characterized by erop and gh'ﬂtﬂin ﬁﬂiﬂmﬁve
HYEbem.

(1)  Amphibia
12)  Reptilia
bjm Aves .
(4)  Osteichthyes
Which of the following organisme are known as
chief producers in the oceans ¥
8 1] Dinoflagellates
A2} Listoms
(3  Cyanobactera
i) Euglenoids

(3]

B2,

5. iz nol a

Which one of ﬂIIEE:.IEiInH]E
homeotherm ?
{1}
A
(3
14)

Macropus
Chelone
Camelus

Psittacula
54 Whicly of the followinganimals does mot usilergo
met ” Koais ? | W "5

{2} Tunicate
(%) Moth .
(4] Starfish

56. Which of the following features is used to identify
o male cockroach from a female cockroach 7

(1) Aldosterone and Prolactin AT :ﬁm uf:ll bnutnh:pmﬁmuMmtht
_ abdominal segmen
(2 ngaa-‘t.amne and Mde.DmnE (2) Presence of caudal atyles
‘._}31' strogen and Parathyroid hormone {3) Forewings with darker tegmina
(41 Parathyroid hormone and Prolactin (4) Presence of anal cerci
ACHLA/DD/Page 8 SPACE FOR ROUGH WORK English



interactions is widely used in nmedical sdence for L e i S en
the productien of antibiotics ¥ JPTETANEE e
{1) Commensalizm L}_}‘Y‘ hCG, hPL, progestogens, prolactin
AL Mutualism (2}  hCG, hPL, estrogens, relnxin, exytocin
(31 Parasbism
J WOG h
(4)  Amensaligm 3} PL. progestagens, estrogens
_ (4 hilG, progesiogens, estrogens,
57. All of the fullowing are inclgded in ‘Ex-situ glucocorticoids -
canservation’ except
{1} Wildlife safari parks 3
,_,'L:H' Sacred 62,  The contraceptive 'SAHELL
(31 Botanical gardens (1) blocks aﬂhﬂm m&ptm_ﬂ' in the uterus,
{4) Seed banks preventing eges from getting implanted.
T increass the concentration of estrogen and
58. Match the items given in Colummn | with thiee in’ _/&1‘ prevents ovalation in femalss. -
Column ]I and select the correct option given .
balaw : (3) immn D
Coluwmn [ Column di (4) is & post-coital contraceptive.
a. Eutrophication 4. UV-B radiation
b. Sanitarylandfill i Deforestation 63. The amnion of mammalian amhryp i= derived
¢,  Snow blindness  dil.” Nutcient from
d. Jhum cultivation iv. Waste disposal . 4 - 8§
e oA (85 mecadens, asdfrophoblast
].J : ].'u ” 14)  ectoderm and endoderm
(2] 1 111 w 1i
¥ iii v i il . _ .
4 -4 i iv il 64. The difference between spermiogenesis and
spermiation is
. In ag ulation of a country, . .. S o A e, Torates = o
i ol ) s b ST | DI mmw&ﬂw
A b b 12 B L0 W, spertion aperatss e
= . i ! d - 1 mm- y. % = -
(2) reproductive individuals are less than the ) )
post-reproductive individuals, (Z)  In spermiogenesis spermatozoa are formed,
{3) reproductive and pre-reproductive while in spermiation spermatids are
individuals aré equal in number. formed. :
4) prE—rBin'nﬂuntli?E mdmdum are less than {(3)  In spermiogenesis spermatozoa from sertoli
© the reproductive individuale. cells are released into the cavity of
60. Which part of poppy plant is used to obtain the seminiferous tubules, while in spermiation
drug "Smack” ? spermatozoa are formed.
(1) Flowers A In spermiogenesis spermatozoa are formed,
AL Latex while in spermiation spermatozos are
(3} BRoots released from sertoli cells into the cavity of
(4} Leaves seminiferous tubules.
ACHLA/DD/Page 9 SPACE FOR ROUGH WORK English



65. Which
represents the lung conditions in

of the following opticns rorrectly

a-thma und

emphysema, respectively ?

68.  Match the items. given in Column 1 with those in
Column Tl and selact the eorrect option given

IL/[}_-! Inflammation  of bronchioles; Decreased Hedow - ]
reapiratory surfacy Columan [ Column Il
(2} Increased number of branchiofes: Inereased i 0 ia & B ot uric
respiratory surface I P
{3) Increased respiratory  sirfice: i
Inflammation of bronchioles b. Gout ii. Mase of erystallised
(4}  Decreased respiratory surface; salts within the kidney
Inflammation of bronchioles ¢.  Renal caleuli iij, Inflammation in
66.  Match the items given in Column I with those in glomeruli
Column 1T and select the correct option giver: d. Glomerular iy, Presence of glucose in
balow nephritis urine
Column I Coleirin 1T
. Tricospidvalve i  Between loft atrium . b 1 d
and left ventricle (1Y i i iv i
b.  Bicuspidvalve il Between right 2 i ii iii iv
ventricle and i aci :
hoanary LTS .E_P i I.EI i 1:#
¢ Semilunar valve i Between right V‘P v : s i
atrium and right ; :
: 63.  Match the jtems given in Column I with those in
ventrides
& b » ihhmﬂanduhmﬂmmtnphnngim
L . = el -
L-r"'H} i i 1i
# i iii fi Calumn | Column I
(3 i ii iii (Function) (Part of Excretary
@ i i i Syatem)
67. Mateh the items given in Calumn T with those in “ Ulmsfltration i Henle'sloop
Column IT and select the correct option given b.  Concentration ik, Ureber
below - i ” [ ‘ of urine L 4 \ 71 -
Column I | Column T Al \ o R
. Tidal velume o 0 L8600 = 3000 mT urine g
b.  Inspirstory Reserve i 1100 - 1200 ml. d.  Storage of urine iv. Malpighian
volume corpusch
¢ Expiratory Reserve  iii. 500 - 560 ml, Vi Prpatiais
volume _convoluted tobule
d.  Residual volume w. 1000 - 1100 mI,
a b (] d
& b e d =
El i i ; ” (1} iv v i i]!
. SO SN AR o R,
3y i iv ii iii 3 ¥ iv i it
W > W oH @ v g i :
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70. Which of the following events does mol occur in

rough endoplasmic retigulum ?

(1) Frotein folding
(2]  Protein glyeosylation
(3] Cleavage of signal paptide

VH‘I Phiospholipid symthesis

Which of these statements is incorrect

(1) Enzymes of TCA cycle ara present in
mitochondrial matric.

Glycolysis occurs in cytosol.

Glycolygis operates s long &= it is supplied
with NAD that can pick up hydrogen atoms.

Orxidative phosphorylation takes place in

7.

(2]
(d)

\)ﬁ

outer mitochondrial membrane.
72, Nissl bodies are muinly composed of
(1) Proteins and lipids
{21 DNA and RNA
(4) MNucleic acids and SER
(4} Free ribosomes and RER
8. Which of the following terme deseribe homan
dentition T :
{1} Thecodont, Diphyodont, Homodont

.,_r,.j-ﬂ'!f' Theeodont, Diphyvedont, Heterodont

(3] Pleurodont, Menophyedont, Homodont

{4} Pleurodont, Diphyodont, Heterodont

Select the incorrect match : _

{1} Lampbrush 5. ﬂiﬂntenﬁhﬂaleﬂ.n |
chragosofeg wof |

(2) Allosomes - Sex clifomosomes

(8) BSubmetacentric — L-shaped chromososmes
chromosomes

y Polytene ~ Docytes of amphibians
chromosomes

75, Many ribosomes may associate with a single
mRNA to form multiple copies of a polypeptide
simultaneously. Such strings of nbosomes are

76. All of the following are part of an operon except
(1} an opératar
(2}  mtructural genes
VH.I' an enhancer
{4} apromoter
Match the items given in Colomn | with those in
Column Il and seleet the correct Illﬁln given
belaw :
Codurn §
Proliferative Phe=e i

Column IT

Breakdown of
endometrial
lining

ii. Follicular "E.ue-
iii. Luotenl Phase

Secretory Phase

L1}
(2} i
S i
4y Il.l i ii
TH.  According to Hugo de Vries, the mechanism of
evolution =
(1} Multiple step mutations
../H'.i Saltation
(3) Phenotypic variations
(4) Minor mutations
78, A woman has'an X-linked condition an ene of her
& !' " 'li I - - 1 z
(1) Only daughters
(2) Only sons
(3) Only grandchildren
LA Both sons and daughters
B0. AGGTATCGCAT is a sequence from the coding
strand of a gene. What will be the corresponding

termed as sequence of the transcribed mRNA 7
L) Polysome (1} AGGUAUCGCAU
(2)  Polyhedral bodies (2) UGGTUTCGCAT
{3) Plastidome (3} ACCUAUGCGAU
i4) Nucloosome ) UCCAUAGCGUA
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Bl. Which of the following gastric eall= indiractly 85, Which t’:'[ the following is Jot an autoimmune
help in erythropoiesis 7 1) Puoraia
(1) Chief cells {2} Rheumateid artheitis
(2}  Mucousioalls 43 Alzheimer's digeose
(3)  Goblet eells ) Vitilige
Parietal cells B6.  Among the following sets of examples for
qu}-' glﬁmamgmmmﬂmmum option :
B2. Match the ftems given in Column 1 with those jn | ‘i Forelimbs of man, bat and cheetah
Columa Il and select the correct option given [2) Heart of bat, man and cheetah
below & LT Brain of bat, man and cheetalh
Codiinkn 1 Bolumn 11 | (41 Eye of cctopus, bat and man
. : . 87. Conversion of milk o curd improves its
H. F‘Hm 1. Cramalic balanes nutritiofial Wlﬂltﬂ'ihm i ho: it o
b.  Globulin 0. Bload clotiing (1) Vitamin 3
e Albumin i, Defence mechanism (2} Vitamin
i Vitamin
Vi . 4} Vitamin E
(1) i i
¢ i ) B8, In which disesse docs mosquite  tranamitted
2] - - pathogen  éause chronic  inflammation  of
(@ i iii i |ymphatie veesr)= 7 :
(4) i i i Elephantiasiz
12)  Ascariasis
B3. Which of the following s an eccupa ional (3) Ringworm disease
respiratory disorder 7 (4}  Amoobiasis
(1} Anthracis 89, The similarity of bone structure it the forelimbs
‘-’wa Bilnogis nfmmy?an:bmHaium.mumhuf
_ Homology
3} Bo A Cgae g
[ : hl]-.l-ﬂm E} mm. ‘ ‘. ;-' “'.jl ',‘_"
(4)  Emphysema 130, Comiveryent evglution’| | | | / 3
84. Calcium'-is fmportant ‘in ‘skelstal muscle| 4 Adaptive radiatisn
contraction because it B, Wh:thnfthefﬂﬂumngﬂlﬂrﬂﬂﬂnghmﬁmt
) : : ‘Inheri 'in humans 7
h/{j] hlﬁdst:?mwnﬂ_hf:mw}hemmhnguf i, * Doniinaties
active sites on actin for Myosin. B Codeos
(2) fm.hnte_u the myoein ATPase by binding to v Multiple allele
-t d.  Incomplete dominance
(8) detaches the myosin head from the actin e.  Polygenic inheritance
filameant, (1) b,cande
(4} prevents the formation of bonds between 4 a,band ¢
themrnmnmbndgm and the actin () b,dande
filament. 4} m,cande
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91. Which of the following flowers only once in its
life-time 7
L__I.-'T‘;- Bambag ﬂ|H""Il-ﬂ$
(20 Jackfruit
i3) Mango
(4} Papaya
92, Which of the following pairs is wrongly
matched 7 _ B o
w,.!_-!‘.l Starch synthesis in pea ;. Multiple alleles
{21 ABO blood grouping ¢ Codominanse
(31 XO type sex ¢ Grasshopper
determination
{4) T.H. Morgan ¢ Linkage
83, Select the correet statement ;
{1} Franklin Stahl coined the term “linkage®,
vijlr? Punnett square was developed by o British
ecientist,
{3) Splicecsomes take part in translation
{4} Transduction was discovered by 5. Altman.
94. The experimental proof for semiconservative

replication of DNA was first show nim o
{1} Fungus
2T Bacterium
(3l Plant
(4) Virus

5. Offsets are produced by

88. In India, the mganisation respousible for
azeessing the safety of infrodueing genetar_'ill_l.f
modified organisms bepeblicuse s

(1) Indian Council of Medieal Research (ICMER)

(2] Coonedl  for  Scientific and  Industrial
Research (TSR}

{31 Hesearch Committes on  Genetic

Manipulation (RCGM)
&}" Fenetic Enpinsering Appraisal Committes
(GEAL)

89. Which of the following is commonly used as a
gector for introduring @ DNA fragment in human
Jymphocytes ?

N g
12
=)
L4

Retroviros

Ti plasmid

A phage 3

pBR 322

100. The eorrect order of steps in Prlymerase Chain
Reaction (POR) i%
i1) Extension, Donnturation, Annealing
{2}  Aanealing, Extension, Denaturation
(%) Denaturation, Extension, Annealing

'L-'!’ﬂ Denaturation, Annealing, Extension

101. A ‘new’ variety of rice was patented by a foreign
company, though such varieties have been

-._,,E; :?S:E:lnﬂ::unu": present in India for a long time, This is related to
NOCATRY {1} Co-B87
(3)
L Besis | (2), SharbatiSonora
96.. Which of. the! fallowing has proved helpfl | (3l “Lerma Rejo
preserving pollen as fossils ? Li#  Basmati
i Pﬂﬂeﬂu] = 102, Select the correct match ;
:?z Dﬂm:;:ﬁm AT Ribozyme ~ ~Nucleic acid
4" Eporopollenin (2) Fyx Recessive parent -~ Dihybrid cross
97. Select the correct match (3} T.H. Morgan —  Transduction
: - . 4y G Memdal —  Transformation
effreys — Streplococe .
* Alfred TMV and organisations without authorisation
i Marth H{?t:;? i concerned country and ita people is called
l -
(3) MatthewMeselson  — Pisum sativum S g'“*’”f"ﬂﬂ““"‘-'“‘
s (3) Biodegradation
E'E-p‘ Francois Jacob and  — Laoc operon :
Jacques Monod (4) Bisexploitation _
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104, Matality refers to

wi!  Death rate
2 Birth rate
(3] Number of individuale leaving the habigat
(4] Number of individusls entering a habitat
105. Niche ie
(1} all the bislogieal factors in the organism's
EOVIFonment
21 the physical space where an rganism lives
(3)  the range of temperature that the Drganism
needs to live
\/m the functional role played by the orgnnism
where it lives
106. What type of ecological pyramid would be
obtained with the following data 7
Secondary consumer : 120 g
Primary consumes ; 6o E
Primary producer : 10 e ;
(1} Inverted pyramid of bioimass
(2}  Pyramid of energy
t3)  Upright pyramid of numbersy
(4] Upright pyramid of biomass
107. In stratosphere, which of the following eliments

acts a5 A catalvst in degradation of arone mng
release of molecular oxygen 7

(1} hydroxyl and met byl
(2)  earbonyl and methyl

(3)  carbony] and phosphate
‘4 earbonvl gnd hydroxyl

1115 Which among the fﬂhmhgillﬂlmm?

Suaecharomycsy
(2 Mycohacterium
1 Nostoe
{4 Cregilln torte
112. Stomatal movement is mag
1 Temperature
(2) Light
13 Oy concentration
{4,

affected by

reaction of photosynthesis ?
(1) ATP

A& NADH
(3 MADPH

4)  Oxygen
14 The Golgi complex participates in
(1 Fatry acjd breakdown
A< Formation of secretary vesicles
(3 Respiration in bacterig

1) Carbon 14 Activation of amino acid v
ol 115, Which of the following is true for niucleolys ?
i) Yo (1) Larger nucleli are present inr Afviding cell
4 Oxygen ) Iis & mestbrane-bund stryeture;) | | | |
= ' ' 1,'__,J‘,-vl'rIti!l:iuituii:rrm:*I:I-Iwu,l'ill-mh-m.u]Ili!'fh'lll
(1) 5" June |_ gynthesis,
(2 21" Apeil 118. The stage during which separation of the paired
ho us chromosomes begins is L
(8)  16® September”” (1) ne =
4 emdy o 421 Diplotene
¢ : W (9) Diakinesis
3, “’h:d:nfthefnlhwinghammndurymliuunt? (4} Zygotene
(1) CoO 117, Stomata in grass leaf are
@ co, {1; Dumb-bell shaped
iz Kidney shaped
) 50 (3) Reetangular
() 0Oy T Barrel shaped 4
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118, Casparian strips occur in

125. Winged pollen grains are present in

{1) Epidermis i1} Mustard
{21 Pericycle (21 Cycos
(4 Cortex (3}  Mango
4 Endodermis u_;:H Pinus
119. Plants having litte or no seenadary grewth are | 196, After karyogamy followed by meiosis, spoges are
A Grasses produced exogenously [
2y Deciduous angiosperms (1) Newrvspora
(8) Conifers (2] Altsrnaria
(4} Cycads V’-{ﬂi' Agaricus
120. Pneumatophores oceur in Sy s
A Halopiysss 127. Match the items given in Column | with these in
(2}  Free-floating hydrophytes Column 1l and seloct EHM given
(3) Carnivorous plants below :
i4) Submerged hydrophytes Column [ ot Eedrmen §
121. Sweet potato is & modified ‘a.  Herbarium i Ttisa place having a
i1) Stem collection of preserved
Adventitious roat plants and animals.
(3} Taproot b. Eay ii A list that snumerates
(4) Rhizome MRS ull the
ﬂpal:'ﬁ found in an area
122. Segondary xylem and phivem in dicot stem are with brief description
;rndu:ad :I}l 2 *  aiding identification,
iy S e ¢ ‘Museum i, 1s 8 place where dried and
Vaseular cambium i i
pressed plant specimens
Hialiogin mounted on sheets are
i4) Axillary meristems ket
123. Which of the follpwing-gtatemantajs ogrragt f 4, Catalogue . iv. A bogklet containing & list
l:lﬂucﬂmj:l by bv.al J-ni—-. : of chararters and their
E 3 / i W?MF 'y
(2) wmhmmm wmes:ﬂmm helpful in identification of
i& homosporous, ; various taxa.
{3) Horsetails are gymnosperms. A b c d
{4) Stems are uwsually unbranched in both ) i iv iid ii
Cycas and Cedrus. (2 & W i iv
124. Select the wrong statement - (3) i iv il i
(1)  Ceoll wall iz present in members of Fungi L‘..'I-;”ﬂ it iv i i
and Plantae,
=
(2)  Mushreoms belong to Basidiomycetes, 128. Which m " gly matched 1
i . ; Uniflagellate gametes — Polysiphania
{3} Pspudopodia are loco and feeding 3
s sl o, (2) Biflagellate zoospores — Brown algae
(3) Gemma cups - Marchantia
i4) Mitochondria are the pu:marhmma cell y ;
in all kingdams excopt Moners. 0213 (4] Ummllullarnrgmm =  Chlorella
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129, Which one of the following plants shows a very
close relationship with a speeies of moth, where
nene of the two can complete its life cyele without

the other 7
i1y Hydridla

+2}  Yucea
(3] Banana
{4) Viola

130. Pollen grains can be stored for several vears in
liquid nitrogen having a temperature of
(1) =120°C
(2) -80°C
] —186%0

i4) = 160°C

131. Which of the following elements is responsible for
maintaining turger in cells ?

136, Which of the [eWerw ing statements is not true for
halogens ?
v All form monohasic axyacids.
(2} Al are oxidizing agenis:

L},‘]-E'f' All but fuorine show pesitive oxidation
) statos.
{d)

Chlorine  hag. the

l“IIt}IJl]m"_

137. Lonsidering Ellingham diagram, which of the
following metals can be used to reduce alumina ?

{1) Fe
L)m =
(3 Mg
40 Cu

i1y Magnesium 138. In the strecture of mi“’. the number of lone paiLrs
(2 Bodium of tlectrons on contral atom Tl is Lo
} Potassium (1) one : j;}ﬂ' E
{d) i
Caleium T two 1
132. Double fertilization is (2} four
11} Fusion of two male game-ies of & pollen tubs i4) three
with two different eggs .
(2 Mmdmemﬂlmﬂﬁlmpmmmwmw“wiﬂm”
nu{'—!ﬂ':i f]fmt—ﬂ 18
(3} Fusion of two male gametes with one ege ily) B<Alzin<Ga<T
M Syngamy and triple fusion 2 Be<Al=Ga<In<T
133. Oxygen is not produced during photosynthesis b (3 B<Ga<Al<Ti<In
} G’:‘u-:!uaulphurh-mteria {l’-:l B{ﬂ'ﬂ{ﬁl{]ﬂ{“
(2} MNosztoe
(3)  Cycas 140. The comrect order of..N-compounds, in yits
(4) Chare ' dﬂmg of oxidation states is
184, What s \the mle of NADY in cellular| | ¥ H05 NO, No NH,C)
regpiration ? (2} HNOg NO, NH,C1, N,
(1) It funclions as an enzyme. HN
{2} It functions as an electron carrer. W By PR T
(3) It ir & nucleotide source for ATP synthesis. {4} NH/CI, Ny, NO, HNO,
(4) It is the final electron acee for anaerohie ,
respiration. e 141, Whmhun:_nftheﬁﬂlﬂwhjgalmanuhmuem
185. In which of the following forms is iron absorbed form MF;~ion ?
* by plants ? (1) Ga
(1) Perric (2} Al
{2) Ferrous
(3} Freeeloment \jﬁj B
AT Both ferric and ferrous (4} In
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142, The compound A on treatment wﬂ‘.h Na gives B,
and with PCl; gives C. B and € react together to
give diethyl cther, A/ B and € are in the order

CyHOH, C,lHg, CoHaG
(2) CyH;OH, CyHsCl, CHONa
CH;CL. Cgllg, CoH0H

\ (9" C5HOH, CaH;ON, C,H,CI

(1}

()

143. Hydrocarbon (A} reacts with _bramise by
substitution to form an alkyl bromide which by
"i‘-’urtl rear.'ti:ﬁu is converted 1o gaseous

mmﬁ}uurmﬂ
Btums (A)is ﬂH;ﬂ.'r
(1) CH=CH My [Hy .
(2) CHy=CH,
{3) CHy-CH,

.\‘}?‘ CH,
144, The ecompound C;Hg undergoes the

reactions ;
301/

: ﬂ".-
A HCI
T c
en BT e

O

T

Brgf Fls-

7Hg
The product T is

m-bronotoliiens
o bromigolughd
E-hn;mn-ﬂ.l,ﬁ-h'ichlumhnlmna e
p-bromotolusne

(1
(2)
3}
{4}

.L

B

145. Which oxide of nitrogen is mel a commen
pollutant introduced into the atmosphere both

|

Goro -l

146, Ful}uﬂug solutions were prepared by mixing
different volumes of NaOH and HCI of different

concentrations : Moo = £

=i
mLﬂﬂu mmL © NaOH & :
H H‘Hm,\gfhf l&

NaOH

i

'M'
— HOYYu5 mL —
T -I-'q.:lm-Lin

b 55 mL Eh ]

[ ot

’ L
HCI +25 ml. H NaOH
M

e M Qs ph-
& 100mLE Ht]+1uﬂmL1 Hnﬂﬂ%fi

Fﬂnfw‘hi;hﬂnenfthmﬂheequllhlf s xoBL
M b —-"';H 1 S 5
] a \

(# d |ed

ksl e

147. On which of the following properties does the
coagulating power of an ion depead §

i1} The magnitude of the charge on the fon

alone @ L-i"-‘l;g
Size of the ion alons 'Ji.!-‘*.'-_*.

Both magnitude and sign of the charge on
the ion we 2Arxlg el

The sim of charge on H:ej:-n qtlune“-i‘.j__ )
48, The solubility of BaSO,

75 ml, “’

Fh' -—LEIIR.I'I'
i

T

LZ)

(3

) g

&
in Ll‘ilh:r is
242x10° gL~ at 298 K. The value of its
solubility product (K,) will be

(Given molar mass of BaS0, = 233 Eﬂuml

3t .w
WY
ﬁk‘ e
(2" 108 x 1072 mal* L 'Ftr =4 : . "':]I 2
(3) 108 107 mot® L ﬁ e o
(4) 108 % 107 mol® L2

148. Given van der Waals constant for NHg, Hy, O,
and COy, are respectively 4-17, 0-244, 1-3 and

due to natural and human activity ? 359, which one of the mimmmm
(1) N0, V:?bﬁmd?
(2) NO, i
2 H
3
(3 NyO (3} 0y
(4) NOw~ (4 O,
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150, Match the metal jons given in Calumn [ with the 155. Identify major products :
spin magnetic moments of the iona given in g 3 5 Qe 51 e
Column 11 and assign the eorreef code - following sequence of reagtions ;

Column [ Column [T pan
a. Co® i A8 BM P J:lﬂla
b Cr™ ii, 436 BM, @ —_
Ll =
e. Fe' iii. V3BM - Ptﬂﬂ; Q+R
et 4
d Ni* i Jﬁm.“{_ﬁ (i) HaO*/a
. Wg (54
v. 16 BM. -
Jeet b Q R
a b [ d
UJ.H" i i i dUEE
iv ¥ i
] JOHL O
{2y i ji il iv in (FSSRCiy g oHO @
@ v i - iie T — VM@ @ CH,CH, - OH
T AN H""f‘:’_f- : i
'] L

151. lrem carbonyl, Fet CO); is Wi
(1) tetranuclear LTS CHyCH,CH;

(2} mononuclear
(3) trinuclear k2)
{4)  dinuclear

152, The geometry and magnetie behaviour of the
complex [Ni{COJare 11 % & § 14 11 CHICH )y OH
(1}  square planar geometry and diamagnetic (3 g @’ CHyCHIOH)CH,
2} tetrahedral geometry and diamagnetic a 3
(3}  square planar geometry and paramagnetic
(4) tetrahedral geometry and paramagnetic OH

163. Which bne of . tha following, ions exhibits ' 'mﬂﬂa}z - A\ I\ /%
dudtrmhmﬁarimqﬂahnm apwell 7 £ lg \ ! |i EH*.-mfnl;li,
W cot 1 »- |
(2 Crg03
(3) MnO] : .

) 156. Which of the following compounds can form =

i4) MnO, Twittarion 7
lﬂi-ﬁﬂwnfmmmmhﬂ:ewm:iﬂ (1) Aniline

[CoClylenly] is -

(1) Geometrical isomerism (2) Acetanilide

(2) E-l:rl}rdinnhm:mrmmrm (3) Bensoic scd v

(3} Tonization iscmeriam« 1.

(4) Linkage isomerism % i B e
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157. Which of the following moleculs=s represents the
order of hybridisation spn, i_[J:. sp, sp from left to
r_ighl. atoms T o

(1) HC=C - sCH

9" CHy=CH-C=CH

i3) CHy=CH-CH=CH,
(4) CH3-CH=CH~ CH,

158. Which of the following carbocations i3 expected Lo

b moat atable 7
NOy
-
: Y H
5
¥ H
KO,

1 YI 8711 -
NOy
H
(4} ?m

188. Which of the following is correct with respect to

160, Magnesium reacts with an element (X} to form an

iomic compound. 1f the rmnd Atatu.t electronic

configuration of (X} i= ie° 25%90% the 31|r||-|![-,5
formula for this compound is QIH' My ‘;dﬂ HL
(1 MgaXy & &
(2) MgX,
(3 MgeX

vi-i"' MgaX,

161. Iron axhibits bee structure at room temperature.
Above 800°C, it transforms to fee structure. The
ratio of density of iron al roam temperature to
that at $00°C (assuming molar mass and stomic
radii of iron remains constant with temperature)

. F

=
TN f,_-ﬁ-
2 d* 11
— ey
21 m a_;'r.]irs
343
.
1
ol

162, Which one is a wrong statement ¥
{1} Total orbital angular momentum of electron
in ‘&' orbital is equal to zero.
{2) An orbital is designated by three quantum
numbers while an electron in an atom is
designated by four quantum numbers,

mﬂadmnnumﬁmamwiiﬁmm i
12 Nae 2yl |V

ti [ty [t

(4) The value of m for d_2 is zero.

183. Consider the following species :
CN*, CN™, NO and CN

- 1 effect of the substituents ? (R = alkyl) , : .

(1) -NH;<-OR<-F Wjﬂ:n:uﬂrmmwmummmm

S~ ~-NRy <-OR<-F (1) ﬁr:'fi?r";rf

s e @ <ot

{4} -NBy>-OR>-F @ ¢ oN |
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164. In the reaction 16T e corcict. differsfice  botween first-  and

secopd-order resctions is that
OH O Na* \%ﬂm rate of a first-opder reaction does oot
- CHO depend on reactant euncentrations; the rate
* CHCly + NaOH —» of a second-order reaction does depend on
reactant concentrations
the electrophile involved is (2F the halflife of o first-order reaction does not
& depend  en. [Aly the halflife of 5
(1} dichloromethyl cation ( CHC " second-order reaction does depend on (4],
& {3} a first-order reaction m be catalyed; a
(2)  formyl eation (CHO ) second-crder reaction cannot be eatalvzed
. : = ﬂ:E m - - L
0 s B || 4 e
ik o of a setond-order reaction does not depend
L.,.-J""" i T un reactant concentrations

165. Carboxylic acids have .. \higher bailing points than I Among [”TH:"' Betly, BaHy, the order of ionic

aldehydes, ;]-.mme-e and even aleakal:  of i :
comparahle molocular mass, 18is due to their ‘11 BeHy < CaHy < BaH,

'- (2 VCGH, < BeH, < Bal,
() formation of inteawolecular H-bonding o Shcanic.r

¥ (3} BeHy < BaHg < CaH,
(2) formation of ﬂl'hﬂ.'l'hiﬂ 1om {-""f-l - ¢ —tky

(4] BaH, <BeH, - Call,

(3) more extensive assogiation of carboxylic .
arid via van der Waals force of attraction | 189. Consider the change in oxidation state of
Promine corresponding to different emf values as

\-y formation of intermoloeular H-bonding shown in the diagram below -
: = 1BV - 16W
166. Compound &, CgHy0, is found to react With il v T g
WNaOl (produced by rescting Y with NaOH) and et Bre = i
yields a yellow precipitate with characteristic e I s r_-:.: o RN
smell, | N | Then the species usderge ing_dispropartionation
A and Y are respectively @ Pugory (L) @
J A Ci ' ' 1) ‘;rﬁi . '
(1) HSE—D— E]-I:—DHmdlz';} (% E.I‘EII
(3] Br:
@ ¢ ) CH,-CH,- OH and1, e
(4} Q_ﬂﬂncﬂﬂmd I, 170. In which case ig the number of molecules of water
| maximum ? oo v gr
OH (1) 18 mL of water L= Wyl
CH, (@ 018 g of water 3 001mel "7 LT
(&) 0-00224 L of water va at 1 atm and
() Cﬂﬁ—@ OH and I, 4 oMK o .oove m:m &

g

(4} 10 mal of water
ACHLA/DD/Page 20 SPACE FOR ROUGH WORK q
age looo Pyl ';:.;.;' |
19 = o hr __.;'['4 |eoa
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171,

172,

174.

174.

Regarding cross-linked or network  polymers,

which of the following stal«ments is incorrect ?

{1} They contain covaloat bonds between
various lingar pelymer chains.

They are formed from bi- and tri-functional
MONGmMers.

(2}

{3) Examples are bakelite and melamine.

w/ They contain strong covalent honds in their
polymer chains.

Nitration of aniline in strong acidic medium alsp

gives m-nitreaniline because

i1y In spite of substituents nitro group always
goes to only m-position.

{21 In wlectrophilic substitution reactions
aminoe group i meta directrve.

(3) In absence of substituents mitro group
alwanys goes to m-position.

i4} In scidic (gtrong) medium aniline is present
ag anilinium foa.

Which of the following oxides is most acidic in
nature ¥

(1) MgQ

(2) BeO”"

(3} BaD

4y CaO

The difference between amylose and amylepectin
is

{1) Amylopectin have 1—+4 c-linkage and
1 =+ 6 oplinkage

@ Amylose have |14 | colinkage—and |
l-ﬁrﬁ,ﬂ'-l:ﬂn.gu 4

Wﬂﬁm have 1 — 4 o-linkage and
1 = 6 f-linkage

(4) Amylose is made up of glucose and
gislactose tponMs i‘i::

175. A mixture of 23 g formic acid and 4-5 g oxalic

acid iz treated with conc. HzSO, The evolved
gaseous mixture is passed through KOH pellets,
Weight (in g) of the remaining product at STP

-

178. Which one of the following conditions will favour
u""ﬂ}

179. The hond dissociation energies of

176. For the redox reacton

MnO] +C,00 + B £, 4 + COy + H 0

the correct coefficients o the reactanis for the
balanced eguation are

MoO; C,0f- H
(1) 18 5 2
(2 12 5 16
(@ 2 16 5
(4) 5 16 - z

177. The correction facter 'a’ to the Hnlll gas equation

corresponds to
{11 density of the gas molecules
(2) _welume of the gas molecules

(3 electric fald pl't!:ent betwesn  the gas
molecules

forees of sttraction between the gas
miolecules

maximum formation of the product in the
reaction,

A#m+,ﬂgfg]'#xgiu} AH=-Xki?
Low temperature and high pressure

Low temperature and low pressure

High temperature and high pressure

High temperature and low pressure

(2}
M
4

¥ and XY
mmﬂmxﬁﬂunnv&s *L.E.Hﬁa; & formation
of X is — 200 kJ ol The Mdﬁmnmn

energy of Xy will be "{I.‘t-lnﬂ-l‘# v By Cams
AT 200kTmol M A ey
@ wokimer? PP i
(3} 800 kJ mal™ Qt-jz"-:—f‘fl" L2 Intarez -
(4) 400 kJ mol™ .
'I::‘-ﬂ'?l"

180. When initial concentration of the reactant is

duuhlnd.ﬂl.ahalf-ﬂﬁpﬁrmdnfamnmdur

wrill b lermﬂi'f!' C;ﬂ;ﬂimlugﬂl -!'Eﬂnﬁr":'“ i, = %— 2&4 elire”
(1) 14 W e P (1) i fimived . Roolhe 1Lt
{2y 30 b = iz doubled _ [
) 28 b (3) s tripled @ s
4} 44 {4) remains unchanged j_.:&i
R
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